
ST-7841SL

PARTS LIST
 No. Parts No. Description Q'ty  No. Parts No. Description Q'ty
1A 7841-01A Regulator 1 40 7841-40 Washer 1
2 7841-02 O-Ring (AS015) 1 41 7841-41 Bearing (HKU609) 1
3 7841-03 O-Ring (3.5x1.4) 1 42 7841-42 Snap Ring 1

4S 7841-04S Valve Stem Set [Incl. 3, 4] 1 44 7841-44 Bearing (6904) 1
5 7841-05 O-Ring (P10) 1 45 7841-45 Nut 5

6S 7841-06S Regulator Set [Incl. 5, 6] 1 46 7841-46 Screw (M4x20) 1
7841-07A Air Inlet (PT19) 1 47 7841-47 Handle Link 1
7841-07B Air Inlet (NPT18) 1 48A 7841-48A Face Plate 1

8S 7841-08S Muffler Set [Incl. 8A, 64, 65] 1 49 7841-49 Screw (M4x10) 4
10 7841-10 Protecting Rubber 1 50 7841L-50 Disc Cover 1
11 7841-11 Pin 1 51 7841-51 Screw (M4x6) 4
12 7841-12 Lever 1 7841-52A Washer (3/8") 1
13 7841-13 Spring 1 7841-52A-1 Washer (5/8") 1

14S 7841-14S Valve Set [Incl. 13, 14, 15] 1 54A 7841-54A Disc Nut 1
15 7841-15 Washer (6x13.8x1.6T) 1 56B 7841L-56B Screw 1
16 7841-16 Pin (2.8x25.8L) 1 58 7841-58 Hex. (4mm) 1

17A 7841-17A Housing 1 61 7841-61 Oil Cup 1
18 7841-18 Bearing (626) 1 62 7841-62 Muffler Body 1
19 7841-19 Washer (17x33.2x0.8T) 1 63 7841-63 Washer 1
20 7841-20 Rear Plate 1 64 7841-64 O-Ring (AS125) 1

22A 7841-22A Rotor Blade 4 65 7841-65 O-Ring (S30) 1
23A 7841L-23A Rotor 1 66 7841-66 O-Ring (S16) 1
24S 7841L-24S Cylinder Set [Incl. 24, 26(2)] 1 67 7841-67 Screw (M4x8) 1
25 7841-25 Bearing Spacer 1 68 7841-68 Snap Ring (RTW-18) 1
26 7841-26 Pin (2.5x6L) 2 69S 7841-69S Regulator Set [Incl. 2, 69] 1

27A 7841L-27A Front Plate 1 71 7841-71 Spring 1
28 7841-28 Bearing (6000ZZ) 1 72 7841-72 Pin 1
29 7841L-29 Coupling Nut 2 73 7841-73 Snap Ring 1

30A 7841L-30A Coupling 1
31 7841L-31 Bearing (699) 1
32 7841-32 Nut 1
33 7841-33 Clamp Nut 1 80 7841-80 Pinion Gear (18T) 1
34 7841L-34 Spindle Housing 1
35 7841L-35 Spindle 1
36 7841-36 Bearing (609) 2

37B 7841-37B Pinion Gear (15T) 1 82 7841-82 Key 1
38 7841L-38 Screw (M4x20) 1 83 7841-83 Washer 1

39S 7841-39S Angle Housing Set [Incl. 39A, 61] 1 84 7841-84 Wrench 1
ST-7841SL-P-1810E-ST

Shaft Set [Incl. 41, 42, 44, 80, 81, 
82] 

81S 7841-81S

EXTENDED 4" REVERSIBLE AIR ANGLE CUTTER (LOW NOISE)

52A

Spindle Lock Set [Incl. 71, 72, 73, 
74]

17841-74S74S

1

7


